AElE= AF[QI|A AE]
I2E LIE QIS

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

o|cilA

e ™1

Kinn

Bix], SCILE Hel 2t H

ks

HE My
QlEiA E2Ix{s S0 Ho2 Qs &S U7 HatH £l W wx|
3171 I3 AFSEILICH X EEE 2522 Ho{okgt CHE B3 9Ixl
2 0lSE 4 YBLIC 0] QA EHK|0| B2 T BHHE 0|2 5tod

= ox|5t
g FXIELICH
Qx| S & HAl ORIOR oF7to| o2 &AH CHE £ Q&L

EM OIF2:

AR T

LA €21, 48 &
= g, 83t ook, a2ln A MEREl

ton
2k
o

AH|IQIZ|A AE H{A:
LIA £21E, FEE Xl

2 E, odof, FEE 2.
O3 i, A 35|M RAL7021 FE= E2HE whZHAE RAL3020.

[ ——— =TI:
IEC 2160 [ & 215 A8 2%, Z[CH 160 C.
Et7| AL 2%, |0l 250 C.

Q-x-l.

=

Etesto wE
X

HMIAIE]:

A 0|AM & K0665.
QIHIA EAXE Z XML
Bjo|d 2 & K0638.

£ 4 K1290.

www.kipp.com - info@kipp.com 1/2



A El cC= AFE]IO A AEIOO|HIA = =dLAE al
2B EEE AE|OIHIA AR QIA ERIK|, B2HAE A HiH B
7"'-'_'E'| L'|E AN
=N
y <+
©-
3 LTI
~ C I ] Swi T
S
== | Sw2 ! J
(V5 |
S 1| o2
D1
— I
& —<|—| --------- H
——7
A
At
Z=5 29
FEHS 2 & FHE MA Ef A A1 B B1 D D1 AE L L1L2L3SW1SW2 Fx A[ZF  EbY
& 23 30° EBH =
S F1 F2
ok N 2N
K1584.9105 AE a B 31,741,717,91295 M10x1 5 3917715 13 17 13 5 12
K1584.9206 AR A B 31,641,717,91296 M12x1,5 6 4420817 14 19 18 6 14
K1584.9308 AE = B 55,567,826,919,4 8 M16x1,5 8 56,9261023 19 24 23 15 35
K1584.9410 AE A B 53,467,826,919,410M20x1,5 10 62,9281225 22 30 2,8 15 34
K1584.9105154 AR AlE 5 Wz RAL 3020 B 31,741,717,912,95 M10x1 5 3917715 13 17 13 5 12
K1584.9206154 AES Al S Wz RAL 3020 B 31,641,717,912,96 M12x1,5 6 44 20817 14 19 18 6 14
K1584.9308154 AE (55 Wz RAL 3020 B 55,567,826,919,4 8 M16x1,5 8  56,9261023 19 24 23 15 35
K1584.9410154 AR A5 5 whZh RAL 3020 B 53,467,826,919,410M20x1,5 10 62,9281225 22 30 2,8 15 34
K1584.19105 fEﬂO._l FZES] B 31,741,717,91295 M10x1 5 3917715 13 17 13 5 12
A AE]
K1584.19206 fEiIO._I | A B 31,641,717,91296 M12x1,5 6 44 20817 14 19 18 6 14
A AE]
K1584.19308 fE“O'—'l A B 55,567,826,919,4 8 M16x1,5 8 56,9261023 19 24 2,3 15 35
A AE]
K1584.19410 fEiIO._I | A B 53,467,826,919,410M20x1,5 10 62,9281225 22 30 2,8 15 34
A AE]
K1584.19105154 fEﬂO._I | (55 Wz RAL 3020 B 31,741,717,912,95 M10x1 5 3917715 13 17 13 5 12
A AE]
K1584.19206154 fEﬂ?_l | A S Wz RAL 3020 B 31,641,717,912,96 M12x1,5 6 4420817 14 19 1,8 6 14
A AE]
K1584.19308154 fEiIO._Ié AES Wz RAL 3020 B 55,567,826,919,4 8 M16x1,5 8  56,9261023 19 24 23 15 35
A AE
K1584.19410154 fEiIO._I | AlE S Wz RAL 3020 B 53,467,826,919,410M20x1,5 10 62,9281225 22 30 28 15 34
A AE]
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



